

اختر الإجابة الصحيحة :

الإجابة ٣	الإجابة ٢	الإجابة ١
٦	٦٠	٦٠٠
٣٢٠٠٠٠٠	٣٢٠٠	٣٢٠٠٠
١٨٠٠٠	١٨٠٠	١٨٠
$(٦ \times ٣) + (٤٠ \times ٣)$	$(٦ \div ٣) \times (٤٠ + ٣)$	$(٦ + ٣) \times (٤٠ + ٣)$
$(٧ + ٢) \times (١٠ + ٢)$	$(٧ \times ٢) + (١٠ \times ٢)$	$(٧ \times ٢) \times (١٠ + ٢)$
٢٢١٢٠	٢٢٢٠	٢٢١٠
٦٨٤	٨٦٤	٤٤٦
٣٤٥٦٧	٢٢٢٤٥	٢٦٧٥٢
العنصر المحايد	التجميع	الاستبدال
٢١ والباقي ٢	٢١ والباقي ١	٢١
١٥٣	١٥٠ والباقي ٣	٢٤٢
١٦	١٥	١٥ والباقي ١
٧٣ والباقي ٤	٧٤	٧٣ والباقي ١

السؤال
أوجد الناتج $= ١٠٠ \times ٦$
أوجد الناتج $= ١٠٠٠ \times ٣٢$
أوجد الناتج $= ٢٠ \times ٩٠٠$
$= (٦ + ٤٠) \times ٣$
$= (٧ + ١٠) \times ٢$
$\begin{array}{r} ٤٤٤ \\ \times ٥ \\ \hline \end{array}$
$\begin{array}{r} ٣٤٢ \\ \times ٢ \\ \hline \end{array}$
$\begin{array}{r} ٨٣٦ \\ \times ٣٢ \\ \hline \end{array}$
خاصية الضرب المستعملة $١٥ \times ٨ = ٨ \times ١٥$
$٥ \overline{) ١٠٦}$
$٦ \overline{) ٩١٨}$
$١٣ \overline{) ١٩٥}$
$٥ \overline{) ٣٦٩}$

انتهت الأسئلة

اتمنى للجميع التوفيق